
● Each room in the house yields three integers.  Look at them as a computer would see them.    
● Each set of three integers yields a single word.  Feel the ones.   
● The map is current.  Everyone (including the victim) has moved (or been moved) since the murder. 
● Everyone moved clockwise around the house.  
● No two people moved the same number of rooms distance from where they were when the murder took place. 
● No one moved more than seven rooms distance.   
● Exactly three people were alone in a room when the murder took place.   
● The murderer was in the same room as the victim at the time of the murder.   
● The rooms that are unoccupied now were also empty when the murder was committed.   
● Only one innocent person walked past the room the victim's body ended up on their way to their destination. 
● Only one pair of adjacent rooms were unoccupied when the murder took place. 
● The total number of rooms (distance) moved by people who were not alone at the time of the murder is 14.   
● The weapon is hidden in a room with no people.  To find it you will need to use a Vigenere key that is an anagram of 
the missing word in this movie dialog:  "Put them in the iron maiden."  "Iron Maiden?"  "Excellent!"  "Execute them." "______."  

To solve the puzzle you 
must determine who was 
where at the time of the 
murder and make a correct 
accusation.  Good Luck! 

X + 4Y - 2Z = 6771 
4Z + 5X - 7Y = 6707 

11X + 5Y - 11Z = 6623 

 
Geographical, historical paintings 

Sociology and Anthropology 
Ethical Systems 

2797 
2 0 5 5 

3  0  8  2 

PtIn 
PoV 
BiXe 

Ted Williams' in 1941
(out of one thousand) 

 
Birth year of King 

MacBeth of Scotland 
 

Imp. Caesar Publius 
Licinius Egnatius Gal-
lienus Augustus VI 

Arithmancy 
 
Knuts in a Sickle times number of  
horcruxes, then Privet Drive address 
times Hogwarts platform.  Add those 
and subtract the # of Weasley kids.  
 

   + 

Staircases at Hogwarts plus sum of 
MoM phone digits plus Sickles in a  
Galleon minus Unforgivable curses. 

Find me after the point in C/d.  
I'm three digits long, and I've 
told you where to start each 
time.   

42 
732 
744 

Mega Puzzle 
#10 


